
GUYING AND ANCHORING 

DRAWING 
NUMBER 

SHT. DRAWING TITLE 
DWG 
REV. 

BOM 
REV

. 

A-32-00 1 GENERAL INFORMATION A  

A-32-00 2 GENERAL GUYING & INSULATOR APPLICATIONS 0  

A-32-00 3 GUYING & ANCHORING CHART 1Ø DEADEND AND DEFLECTIONS C  

A-32-00 4 GUY & ANCHORING CHART 3Ø DEADEND - 45º DOWN GUY D  

A-32-00 5 GUY & ANCHORING CHART 3Ø DEADEND - SHORT DOWN GUY D  

A-32-00 6 GUY & ANCHORING CHART 3Ø DEFLECTIONS - SINGLE CIRCUIT 45º DOWN GUY D  

A-32-00 7 GUY & ANCHORING CHART 3Ø DEFLECTIONS - DOUBLE CIRCUIT 45º DOWN GUY D  

A-32-00 8 
GUY & ANCHORING CHART 3Ø DEFLECTIONS - SINGLE CIRCUIT SHORT DOWN 
GUY 

D  

A-32-00 9 
GUY & ANCHORING CHART 3Ø DEFLECTIONS - DOUBLE CIRCUIT SHORT DOWN 
GUY 

D  

A-32-00 10 GUY INSULATOR ATTATCHMENT LOCATION 0  

A-32-00 11 SOIL CLASSIFICATION DATA 0  

A-32-00 12 PISA HOLDING STRENGTHS BY SOIL CLASSIFICATION B  

A-32-00 13 MATERIAL STRENGTH VALUES FOR CALCULATING LOADING C  

A-32-01 1 – 2 TYPE "A" RURAL PRIMARY DOWN GUY B D 

A-32-02 1 – 2 TYPE "A" URBAN PRIMARY DOWN GUY B D 

A-32-03 1 – 2 TYPE "B" RURAL PRIMARY DOWN GUY D F 

A-32-04 1 – 2 TYPE "B" URBAN PRIMARY DOWN GUY E D 

A-32-05 1 – 2 TYPE "A" AND "B" OVERHEAD GUYING B C 

A-32-06 1 – 2 TYPE "A" URBAN SECONDARY DOWN GUY B C 

A-32-07 1 – 2 SIDEWALK GUY A B 

A-32-08 1 – 2 TWO OR MORE GUY INSTALLATION C B 

A-32-09 1 – 2 POLE KEY INSTALLATION 0 A 

A-32-10 1 – 2 POLE FOUNDATION STRUCTURE FOR MUSKEG 0 0 

A-32-10A 1 – 2 POLE FOUNDATION STRUCTURE FOR MUSKEG WITH ANCHORS 0 0 

A-32-11 1 – 2 POLE FOUNDATION STRUCTURE FOR SWAMP OR MARSH CONSTRUCTION B C 

A-32-11A 1 – 2 TWO POLE TANGENT FOR SWAMP OR MARSH CONSTRUCTION 0 0 

A-32-12 1 – 2 TYPE "A" ANCHOR B E 

A-32-13 1 – 2 TYPE "B" ANCHOR A B 

A-32-14 1 – 2 TYPE "C" ANCHOR B B 

A-32-15 1 – 2 TYPE "D" ANCHOR A B 

     

     

     

     

     

     

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. PP 

INDEX L MOEN  P PATEL CHKD. LM 

  2022-05-05 

DATE OF ISSUE:    DRAWING NO: A-32-INDEX                    SHEET  1 of 2 REV. U 

 

2022-08-15



 

GUYING AND ANCHORING 

DRAWING 
NUMBER 

SHT. DRAWING TITLE 
DWG 
REV. 

BOM 
REV. 

A-32-16 1 – 2 ROCK ANCHOR INSTALLATION 0 A 

A-32-17 1 – 2 SLOUGH POLE BUTT ANCHOR C C 

A-32-18 1 – 2 ANCHOR LOG INSTALLATION A A 

A-32-20 1 – 2 ANIMAL POLE GUARD (DISTRIBUTION) 0 0 

A-32-21 1 – 1 SLOUGH CONSTRUCTION CRITERIA 0 - 

A-32-22 1 – 2 TYPE ‘E’ ANCHOR 0 0 

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. PP 

INDEX L MOEN  P PATEL CHKD. LM 

  2022-02-17 

DATE OF ISSUE:    DRAWING NO: A-32-INDEX                     SHEET  2 of 2 REV. A 

 

2022-08-15



GUYING & ANCHORING 

1. FOR GUYING ANY STRUCTURE CARRYING CIRCUITS 25kV (PHASE TO PHASE) AND LOWER, THE
GUYS WILL INCORPORATE INSULATORS IN THE OVERHEAD OR DOWN GUY WIRE. THIS COMPLIES
WITH THE CSA REQUIREMENT TO PROTECT THE PUBLIC FROM CONTACTING A GUY THAT HAS
BECOME ACCIDENTALLY ENERGIZED DUE TO EITHER A SUPPLY CONDUCTOR BREAK OR GUY WIRE
BREAK. THE PUBLIC MUST BE PROTECTED FROM PRIMARY AND SECONDARY VOLTAGES UP TO A
LINE TO GROUND VOLTAGE OF 26kV. COMMUNICATION CIRCUITS AND PERSONNEL MUST BE
PROTECTED FROM PRIMARY VOLTAGES (VOLTAGES OVER 750V).

2. THIS IS ACCOMPLISHED BY USING GUY STRAIN INSULATORS. FOR ALL CIRCUITS A FIBREGLASS
ROD WITH A PROTECTIVE COATING IS USED. THEY HAVE TWO CLEVIS TYPE END FITTINGS WITH
ROLLERS THAT ACCEPT PREFORMED GRIPS. THE GUY STRAIN INSULATORS ARE RATED AT 100kN
(22,000 lbf).

3. THE GUY STRAIN INSULATORS MUST NEVER BE USED AS INSULATORS ON SUPPLY CONDUCTORS.
THESE ARE INTENDED TO INSULATE IN EMERGENCY SITUATIONS SUCH AS FALLEN SUPPLY
CONDUCTORS ON GUYS OR BROKEN GUYS ENTANGLED IN ENERGIZED LINES. THESE SITUATIONS
SHOULD BE CORRECTED IMMEDIATELY UPON DISCOVERY. THESE INSULATORS WILL PROTECT THE
LOWER PORTION OF THE GUY FROM BEING ENERGIZED BUT CANNOT BE LEFT THAT WAY
INDEFINITELY.

4. SEVERAL SHEETS IN THIS SECTION SHOW THE LOCATION OF THE INSULATOR IN THE VARIOUS
GUYING CONFIGURATIONS. IN ANY CASE, THE BOTTOM OF A GUY INSULATOR MUST NOT BE
CLOSER THAN 2.5m TO GRADE WHEN THE GUY IS BROKEN AND AGAINST THE POLE. THIS IS TO
PROTECT THE PUBLIC FROM CONTACTING THE UPPER PORTION OF THE GUY WIRE WHICH MAY BE
ENERGIZED.

5. ALL DEAD END, ANGLE, OR BUCKARM STRUCTURES ARE TO BE RAKED 300mm AT THE POLE TOP
UNLESS OTHERWISE STATED.

6. SIDEWALK GUYS (DWG. A-32-07) SHOULD BE LIMITED TO THEIR INTENDED USE.

7. WHEN CONVERTING A STRUCTURE FROM SINGLE PHASE TO THREE PHASE, THE GUY AND ANCHOR
ARE ALSO TO BE CONVERTED AS NECESSARY.

8. ALL DESIGNS INCLUDE A SAFETY FACTOR OF 1.6 FOR STREGNTH CALCULATIONS IN GUYING AND
ANCHORING MATERIALS AND COMPONENTS AND SOIL BEARING CAPACITY FOR ANCHOR HOLDING
STRENGTH.

 SaskPower  -  DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. ARU 

GENERAL INFORMATION L. MOEN A. UHREN CHKD. 
2017-09-11 

DATE OF ISSUE:  DRAWING NO: A-32-00 SHEET  1 of 13 REV. A 2017-11-03

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2017-11-03

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020/05/12

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020/05/12

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020/05/12

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020/05/12

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020/05/12

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020/05/12

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2018-02-20

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020/05/12

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE QUANTITY 
DESCRIPTION 

NO. NO. A B 

1 1 25 25 0 1 CLEVIS – THIMBLE 

2 1 31 00 1 0 FITTING – GUY 

3 1 33 00 4 4 GRIP – PREFORMED – GUY 

4 1 34 16 1 1 MARKER – GUY – SOLID (SEE NOTE 3) 

5 1 38 22 1 1 INSULATOR – GUY STRAIN – FIBRE ROD – 100 kN 

6 1 93 42 2 2 WASHER – SQUARE – 2-1/4” X 13/16” HOLE 

7 1 95 16 14m 14m WIRE – GUY – 5/16” 

8 5 09 27 1 1 CONNECTOR – COMPRESSION 

9 7 69 62 0.04 0.04 SCREWS – WOOD – #10 X 1-1/2" (100/BOX) 

10 5 640 000 1 1 SIGN – DANGER – HIGH VOLTAGE 

     

     

    NOTE: 

    1. ITEM “7” QUANTITY IS BASED ON A 40' (12.2m)  

                 POLE. 

    2. COLUMN ‘A’ IS USED AS SHOWN IN A-32-01, 

                 COLUMN ‘B’ IS USED FOR DEADENDING ON  

                 THE CROSSARM BRACKET.   

    

3. 1 32 18 CAN BE USED FOR MAINTENANCE 

ONLY.  

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. PP 

TYPE “A” RURAL 
PRIMARY DOWN GUY 

 L MOEN P PATEL CHKD. LM 

   2022-05-04 

DATE OF ISSUE   DRAWING NO: A-32-01     SHEET 1 OF 2 REV. D 

 

2022-08-15

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020-12-18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE QUANTITY 
DESCRIPTION 

NO. NO. A B C 

1 1 13 12 0 1 0 BOLT – MACHINE – 5/8” X 12” 

2 1 25 25 0 0 1 CLEVIS – THIMBLE 

3 1 31 00 1 1 0 FITTING – GUY 

4 1 33 00 4 4 4 GRIP – PREFORMED – GUY 

5 1 34 18 1 1 1 MARKER – GUY – SPLIT 

6 1 38 22 1 1 1 INSULATOR – GUY STRAIN – FIBRE ROD – 100 kN 

7 1 93 42 0 1 1 WASHER – SQUARE – 2-1/4” X 13/16” HOLE 

8 1 95 16 14 m 14 m 14 m WIRE – GUY – 5/16” 

9 7 69 62 0.04 0.04 0.04 SCREWS – WOOD – #10 X 1-1/2” (100/BOX) 

10 05 640 00 1 1 1 SIGN – DANGER – HIGH VOLTAGE 

      

     NOTE: 

      

     1. ITEM “8” QUANTITY IS BASED ON A 40’  

     (12.2m) POLE. 

     2. COLUMN ‘A’ IS USED FOR SINGLE PHASE, 

                  COLUMN ‘B’ IS USED FOR THREE PHASE,  

                  COLUMN ‘C’ IS USED FOR DEADENDING ON 

                  THE CROSSARM BRACKET. 

      

      

      

      

      

      

      

      

      

      

      

      

      

      

      

      

      

      

      

                 SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. PP 

TYPE “A” URBAN 
PRIMARY DOWN GUY 

 L MOEN P PATEL CHKD. LM 

  2022-05-04 

DATE OF ISSUE: DRAWING NO: A-32-02                     SHEET  1 OF 2 REV. D 

 

2022-08-15

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020-12-18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE QUANTITY 
DESCRIPTION 

NO. NO. A B 

1 1 10 90 1 0 BOLT – THIMBLE – 1” X 12” (SEE NOTE 1) 

2 1 25 25 0 1 CLEVIS – THIMBLE 

3 1 33 00 4 4 GRIP – PREFORMED GUY 

4 1 34 16 1 1 MARKER – GUY – SOLID (SEE NOTE 4) 

5 1 38 22 1 1 INSULATOR – GUY STRAIN – FIBRE ROD – 100 kN 

6 1 93 35 1 0 WASHER – CURVED – 5" X 1-1/8" HOLE 

7 1 93 42 2 2 WASHER – SQUARE – 2-1/4” X 13/16” HOLE 

8 1 95 16 28 m 28 m WIRE – GUY – 5/16” 

9 5 09 27 1 1 CONNECTOR – COMPRESSION 

10 7 69 62 0.04 0.04 SCREWS – WOOD – #10 X 1-1/2” (100/BOX) 

11 05 640 000 1 1 SIGN – DANGER – HIGH VOLTAGE 

     

     

    NOTE: 

     

    1. LENGTH OF THIMBLE EYEBOLT (ITEM 1) WILL 

                 VARY DUE TO POLE CLASS AND HEIGHT OF 

                 ATTACHMENT. 

    2. ITEM “8” QUANTITY IS BASED ON A 40’ (12.2m) 

                 POLE. 

    3. COLUMN ‘A’ IS USED AS SHOWN IN A-32-03,  

                 COLUMN ‘B’ IS USED FOR DEADENDING ON  

                 THE CROSSARM BRACKET.   

    4. 1 32 18 CAN BE USED FOR MAINTENANCE 

                 ONLY.   

     

     

     

     

     

     

     

     

     

     

     

     

     

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. PP 

TYPE “B” RURAL 
PRIMARY DOWN GUY 

 L MOEN P PATEL CHKD. LM 

   2022-05-05 

DATE OF ISSUE   DRAWING NO: A-32-03     SHEET 1 OF 2 REV. F 

 

2022-08-15

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020-12-18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE QUANTITY 
DESCRIPTION 

NO. NO. A B 

1 1 10 89 1 0 BOLT – THIMBLE EYE – 1” X 10” (SEE NOTE 1) 

2 1 25 25 0 1 CLEVIS – THIMBLE 

3 1 33 00 4 4 GRIP – PREFORMED GUY 

4 1 34 18 1 1 MARKER – GUY – SPLIT 

5 1 38 22 1 1 INSULATOR GUY STRAIN – FIBRE ROD – 100 kN 

6 1 93 35 1 0 WASHER – CURVED – 5” 

7 1 95 16 28m 28m WIRE – STEEL GUY – 5/16" 

8 7 69 62 0.04 0.04 SCREWS – WOOD #10 – 1-1/2” (100/BOX) 

9 05 640 000 1 1 SIGN – DANGER – H.V. 

     

     

    NOTE: 

    

1. LENGTH OF THIMBLE EYE BOLT (ITEM 1) WILL 
VARY DUE TO POLE CLASS AND HEIGHT OF 
ATTACHMENT. 

    

2. ITEM “7” QUANTITY IS BASED ON A 12.2m (40') 
POLE. 

3. COLUMN ‘A’ IS AS SHOWN IN A-32-04, ‘B’ IS FOR 
DEADENDING ON THE CROSSARM BRACKET. 

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. LM 

TYPE “B” URBAN 
PRIMARY DOWN GUY 

 L MOEN L MOEN CHKD. LM 

   2020/05/13 

DATE OF ISSUE   DRAWING NO: A-32-04     SHEET 1 OF 2 REV. D 

 
2020-12-18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020-12-18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. A B C

1 1 10 89 - - 2 BOLT-THIMBLE EYE -1" x 10" 

2 1 11 12 1 2 - BOLT-EYE -5/8" x 12" 

3 1 50 00 1 - - NUT - EYE 5/8" 

4 1 33 00 4 4 - GRIP-PREFORMED 5/16" GUY STEEL 

5 1 38 22 1 1 1 INSULATOR GUY STRAIN-FIBRE ROD-100kN 

6 1 50 03 - - 1 NUT-THIMBLE-EYE -1" 

7 1 91 12 1 2 - THIMBLE-GUY -1/2" 

8 1 93 35 - - 1 WASHER-CURVED -5" 

9 1 93 42 - 1 - WASHER-SQUARE -2 1/4" x 2 1/4" x 13/16" HOLE 

10 1 95 16 20 m 20 m 40 m WIRE-STEEL -5/16" 

11 2 57 41 - - 2 SPLICE-PREFORMED -5/16" GUY STEEL 

NOTE: 

1. ITEM "10" QUANTITY IS BASED ON A 20m

ROAD ALLOWANCE.

SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. ARU 

TYPE ‘A’, ‘B’ AND ‘C’ 
OVERHEAD GUYING L. MOEN A. UHREN CHKD.  

2017-09-11
DATE OF ISSUE: DRAWING NO. A-32-05 SHEET  1 OF 2 REV. C 2017-11-28

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2017-11-03

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE 
QUANTITY DESCRIPTION 

NO. NO. 

1 1 31 00 1 FITTING – GUY – GALVANIZED 

2 1 33 00 4 GRIPS – PREFORMED – 5/16" – GUY WIRE 

3 1 34 18 1 MARKER – GUY – SPLIT  

4 1 38 22 1 INSULATOR – GUY STRAIN – FIBRE ROD – 100kN 

5 1 95 16 14 m WIRE – STEEL GUY – 5/16” 

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    
    
    

  

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK  DRN. PP 

TYPE “A” URBAN 
SECONDARY AND NEUTRAL DOWN GUY 

 L MOEN P PATEL CHKD. LM 

  2022-05-05 

DATE OF ISSUE:    DRAWING NO: A-32-06                      SHEET 1 OF 2 REV.  C 

 

2022-08-15

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2017-11-03

2017/05/03

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. 

1 1 31 00 1 FITTING - GUY 
2 1 33 00 4 GRIP – PREFORMED GUY 
3 1 34 18 1 MARKER-GUY-SPLIT OVERLAPPING-1.8"x8'-ORANGE 
4 1 38 22 1 INSULATOR GUY STRAIN – FIBRE ROD – 100 kN 
5 1 78 12 4 SCREW – LAG – ½” X 4 ½” 
6 1 87 00 1 STRUT – GUY – 2.4m COMPLETE WITH FITTINGS 
7 1 95 16 10m WIRE – STEEL GUY – 5/16” 
8 7 69 62 .04 SCREWS - WOOD #10 1 ½ " (100/BOX) 
9 5 640 000 1 SIGN - DANGER H.V. 

SaskPower  -  DISTRIBUTION STANDARDS
APPROVAL    DESIGN CHK DRN. ARU 

SIDEWALK GUY L. MOEN A. UHREN CHKD. 
2017-05-15 

DATE OF ISSUE:   DRAWING NO: A-32-07 SHEET  1 OF 2 REV.  B 2017/08/31

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE 
QUANTITY DESCRIPTION 

NO. NO. 

1 1 34 16 1 GUARD – ANCHOR GUY – ORANGE 1-1/4” x 8’  

2 1 93 42 2 WASHER – SQUARE – 2-1/4” X 2-1/4” X 13/16” HOLE 

3 5 09 27 1 CONNECTOR – COMPRESSION 

    

    

    

    

    

   NOTE: MULTIPLY THE MATERIALS BY THE NUMBER OF GUYS 

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    
    
    

  

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK  DRN. LM 

TWO OR MORE GUY 
INSTALLATION 

 L MOEN L MOEN CHKD. LM 

  2019/07/02 

DATE OF ISSUE:    DRAWING NO:    A-32-08 SHEET 1 OF 2 REV.  B 

 
2020-12-18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2021-08-16

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE 
QUANTITY DESCRIPTION 

NO. NO. 

1 1 01 92 2 ANCHOR – POLE KEY (SEE NOTE 1) 

    

    

    

   NOTE: 

    

   1. QUANTITY SHOWN IS FOR NEW POLE INSTALLATION. 

   FOR EXISTING POLE, USE ONLY 1 POLE KEY. 

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    
    
    

  

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK  DRN. PP 

POLE KEY  
INSTALLATION 

 L MOEN P PATEL CHKD. LM 

  2022-02-04 

DATE OF ISSUE:    DRAWING NO:    A-32-09 SHEET 1 OF 2 REV.  A 

 

2022-08-15

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL
ITEM CODE
NO. NO. QUANTITY DESCRIPTION

1 1-11-14 2 BOLT – EYE – 5/8” x 14”
2 1-13-14 1 BOLT – MACHINE – 5/8” x 14”
3 1-13-22 4 BOLT – MACHINE – 5/8” x 22”
4 1-14-30 1 BOLT – MACHINE – ¾” x 30”
5 1-31-00 2 FITTING – GUY
6 1-33-00 4 GRIP – PREFORMED GUY
7 1-63-05 1 POLE – WOOD – 12.2m CLASS 5
8 1-93-42 10 WASHER – SQUARE – 2 ¼” x 2 ¼” x 13/16” HOLE
9 1-93-96 2 WASHER – CURVED – 3”
10 1-95-16 8m WIRE – STEEL GUY – 5/16”

SaskPower  -  DISTRIBUTION STANDARDS
DRN. DESIGN CHK. APPROVAL
CHKD.
DATE DATE DATE

POLE FOUNDATION STRUCTURE
FOR MUSKEG

DATE OF ISSUE   87-06-01 DRAWING NO:    A-32-10 SHEET 1 of 2 REV.   0

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL
ITEM CODE
NO. NO. QUANTITY DESCRIPTION

2 1-13-14 1 BOLT - MACHINE - 5/8" x 14"
3 1-13-22 4 BOLT - MACHINE - 5/8" x 22"
4 1-14-30 1 BOLT - MACHINE - 3/4" x 30"
5 1-31-00 2 FITTING - GUY
6 1-33-00 4 GRIP - PREFORMED GUY
7 1-63-05 1 POLE - WOOD - 12.2 m CLASS 5
8 1-93-42 6 WASHER - SQUARE - 2 ¼" x 2 ¼” x 13/16” HOLE
9 1-93-96 2 WASHER - CURVED - 3"
10 1-95-16 8 m WIRE - STEEL GUY - 5/16"

SaskPower  -  DISTRIBUTION STANDARDS
DRN. DESIGN CHK. APPROVAL
CHKD.
DATE DATE DATE

POLE FOUNDATION STRUCTURE
FOR MUSKEG WITH ANCHORS

DATE OF ISSUE   96-07-26 DRAWING NO: A-32-10A               SHEET 1 OF 2 REV.   0

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE 
QUANTITY DESCRIPTION 

NO. NO. 

1 1 80 50 1 CULVERT – GALVANIZED – 1 PIECE – 750MM x 3500MM 

2 
PURCHASE 
LOCALLY 1.25 CRUSHED ROCK (CUBIC METERS) 

    

    

    

    

    

    

   NOTE: 

   THE QUANTITY OF CRUSHED ROCK IS BASED ON A 12” 

   AVERAGE DIAMETER POLE. 

    

   TOOLS: 

   INSTALLATION TOOL: STOCK CODE 3100270 

   REPLACEMENT KELLY BAR ADAPTER: STOCK CODE 3100159 

   REPLACEMENT HITCH PINS: STOCK CODE 3100264 

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

  

                       SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK  DRN. LM CULVERT - POLE FOUNDATION 

REINFORCEMENT FOR 
SWAMP OR MARSH CONSTRUCTION 

L MOEN P PATEL CHKD. PP 

  2021-05-10     

DATE OF ISSUE:  DRAWING NO: A-32-11                 SHEET  1 OF 2 REV. C 

 
2021-08-16

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2020-12-18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL
ITEM CODE
NO. NO. QUANTITY DESCRIPTION

1 1-08-38 2 BOLT-CARRIAGE 3/8" x 4 1/2"

2 1-13-14 2 BOLT-MACHINE 5/8" x 14"

3 1-19-32 2 BRACE-CROSSARM 32"

4 1-29-10 1 CROSSARM-WOOD 4" x 5" x 10'

5 1-53-09 3 PIN-STEEL

6 1-78-12 2 SCREW-LAG 1/2" x 4 1/2"

7 1-93-25 2 WASHER-DOUBLE COIL LOCK 3/8"

8 1-93-27 2 WASHER-DOUBLE COIL LOCK 5/8"

9 1-93-28 3 WASHER-DOUBLE COIL LOCK 3/4"

10 1-93-34 3 WASHER-ROUND – 2” O.D. – 13/16” HOLE

11 1-93-42 4 WASHER-SQUARE 2 ¼” X 21/4” – 13/16” HOLE

12 2-20-23 3 INSULATOR-PIN TYPE

13 2-58-30 3 ROD-ARMOUR 3/0

14 2-97-28 5.1 m WIRE-TIE #8 STEEL

SaskPower  -  DISTRIBUTION STANDARDS
DRN. DESIGN CHK. APPROVAL
CHKD.
DATE DATE DATE

TWO-POLE TANGENT FOR
SWAMP OR MARSH CONSTRUCTION

DATE OF ISSUE   95-02-22 DRAWING NO: A-32-11A                SHEET REV.   0

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



 

 

BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. 

1 1-01-37 1 ANCHOR-SCREW-SINGLE 8" PISA 6 (SEE NOTE 1) 

2 1-01-56 1 EXTENSION ROD - 1" x 7' 

3 1-01-63 1 EYE NUTS-TRIPLE 

    
    
    
   NOTE: 
    
   1.   FOR INSTALLATION WORKING TORQUES GREATER THAN 
         6000 FT. LBS., DUE TO SOIL CONDITIONS, USE ANCHOR 
         LOGS AS PER A-32-18. 
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

SaskPower  -  DISTRIBUTION STANDARDS 
DRN.  DESIGN CHK.  APPROVAL  

TYPE "A" ANCHOR CHKD.      
DATE  DATE  DATE  
DATE OF ISSUE   95-07-10 DRAWING NO: A-32-12  SHEET 1 of 2 REV.  E 

 

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



20
17
-0
8-
02

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. A B 

1 1 01 43 1 1 ANCHOR SCREW-SINGLE 11 5/16" PISA 6 (SEE NOTE 1) 

2 1 01 56 1 1 EXTENSION ROD-1" X 7'- W/O COUPLING 

3 1 01 63 1 - EYENUT TRIPLE FOR 1" EXTENSION ROD 

3 1 01 64 - 1 EYENUT QUAD FOR 1" EXTENSION ROD 

     

    NOTE: 

    

1. FOR INSTALLATION TORQUES GREATER THAN 

6000 FT. LBS, DUE TO SOIL CONDITIONS, USE 

ANCHOR LOGS AS PER A-32-18. 

2. COLUMN ‘A’ MATERIAL FOR RURAL 

CONSTRUCTION. 

COLUMN ‘B’ MATERIAL FOR URBAN 

CONSTRUCTION. 

     

     

     

     

     

     

     

     

     

     
     
     
     
     
     
     
     
     
     
     
     
     
     

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. ARU 

TYPE "B" ANCHOR L. MOEN A. UHREN CHKD.  
   2016-12-21 
DATE OF ISSUE   DRAWING NO. A-32-13    SHEET 1 OF 2 REV. B 

 
2017/05/03

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



 

 

BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. 

1 1-01-45 1 ANCHOR SCREW-DOUBLE 8" PISA 6 (SEE NOTE 1) 

2 1-01-56 1 EXTENSION ROD - 1" x 7' 

3 1-01-63 1 EYE NUTS-TRIPLE 
    
   NOTE: 
    
   1.   FOR INSTALLATION WORKING TORQUES GREATER THAN 
         6000 FT. LBS., DUE TO SOIL CONDITIONS, 
         USE ANCHOR LOGS AS PER A-32-18. 
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

SaskPower  -  DISTRIBUTION STANDARDS 
DRN.  DESIGN CHK.  APPROVAL  

TYPE "C" ANCHOR CHKD.      
DATE  DATE  DATE  
DATE OF ISSUE   95-07-10 DRAWING NO: A-32-14  SHEET 1 of 2 REV.   B 

 

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



20
17
-0
8-
02

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. A B 

1 1 01 46 1 1 ANCHOR SCREW-DOUBLE 10" PISA 6 (SEE NOTE 1) 

2 1 01 56 1 1 EXTENSION ROD-1" X 7'- W/O COUPLING 

3 1 01 63 1 - EYENUT TRIPLE FOR 1" EXTENSION ROD 

3 1 01 64 - 1 EYENUT QUAD FOR 1" EXTENSION ROD 

     

    NOTE: 

    

1. FOR INSTALLATION TORQUES GREATER THAN 

6000 FT. LBS, DUE TO SOIL CONDITIONS, USE 

ANCHOR LOGS AS PER A-32-18. 

2. COLUMN ‘A’ MATERIAL FOR RURAL 

CONSTRUCTION. 

COLUMN ‘B’ MATERIAL FOR URBAN 

CONSTRUCTION. 

     

     

     

     

     

     

     

     

     

     
     
     
     
     
     
     
     
     
     
     
     
     
     

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK DRN. ARU 

TYPE "D" ANCHOR L. MOEN A. UHREN CHKD.  
   2016-12-21 
DATE OF ISSUE   DRAWING NO. A-32-15    SHEET 1 OF 2 REV. B 

 
2017/05/03

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. 

1 1 01 18 1 ANCHOR-ROCK-SIDE EYE 
2 1 01 29 3/10 KIT GROUT-2 COMPONENT W/ SUBZERO 
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

  

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK  DRN. ARU 

ROCK ANCHOR 
INSTALLATION L. MOEN A. UHREN CHKD.  

  2016-09-06 
DATE OF ISSUE:    DRAWING NO: A-32-16    SHEET 1 OF 2 REV.  A 

 
2016/11/08

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 

ITEM CODE 
QUANTITY DESCRIPTION 

NO. NO. 

1 1 01 46 2 SCREW – ANCHOR – DOUBLE 10" – PISA #6 

2 1 01 56 2 ROD – EXTENSION – 1" X 7' 

3 1 01 60 2 ROD – EXTENSION – COUPLING – 1" 

4 1 09 12 2 BOLT – DOUBLE ARMING – 1” X 12” 

5 1 14 XX 1 BOLT – MACHINE – 7/8" 

6 1 35 53 2 BRACKET – SLOUGH ANCHOR – 5” X 3” X 5” 

7 1 50 60 1 LOCKNUT – 7/8" 

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    
    
    

  

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK  DRN. PP 

SLOUGH POLE BUTT ANCHOR L MOEN P PATEL CHKD. LM 

  2022-02-16 

DATE OF ISSUE:    DRAWING NO:  A-32-17                   SHEET   1 OF 2 REV.  C 

 

2022-08-15

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2022-08-15

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTION NO. NO. 

1 1 01 54 1 ANCHOR-EXTENSION ROD - 1" x 3 1/2' 

2 1 01 58 1 ANCHOR-EXTENSION ROD - 1" x 7' – SINGLE HEX COLLAR 

3 1 01 60 1 COUPLING-1" EXTENSION ROD 

4 1 01 63 1 EYENUT-TRIPLE 

4 1 01 64 - EYENUT-QUAD (IF REQUIRED) 

5 1 44 05 1 ANCHOR-LOG 5' x 12" 

6 1 93 35 1 WASHER-CURVED 5" x 5" 
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

   

 
 
 
 

  

                SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK  DRN. ARU 

ANCHOR LOG INSTALLATION M. ERETH A. UHREN CHKD.  
  2015-03-09 
DATE OF ISSUE:   DRAWING NO: A-32-18                    SHEET   1 OF 2 REV.  A 

 
2015/08/18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2015/08/18

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL
ITEM CODE
NO. NO. QUANTITY DESCRIPTION

1 1 34 20 1 GUARD - POLE ANIMAL (DISTRIBUTION)

SaskPower  -  DISTRIBUTION STANDARDS
DRN. DESIGN CHK. APPROVAL
CHKD.
DATE DATE DATE

ANIMAL POLE GUARD (DISTRIBUTION)

DATE OF ISSUE:  2003/05/30 DRAWING NO:    A-32-20   SHEET 1 OF 2 REV.   0

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



 
          SLOUGH CONSTRUCTION CRITERIA 

DRAWING # 
M

A
X

IM
U

M
   

   
   

   
 

W
A

TE
R

 D
E

P
TH

 

IN
S

TA
LL

 V
E

H
IC

LE
 

R
E

LA
TI

V
E

 S
TR

E
N

G
TH

/ 
E

FF
E

C
TI

V
E

N
E

S
S

 

P
R

O
TE

C
TI

O
N

 F
R

O
M

 
S

P
R

IN
G

 T
H

A
W

 

                                       NOTES 

A-12-7x 
LONG 
SPANS 

NONE DIGGER + + MEANT TO SPAN OVER WATER.  SHOULD NOT BE USED 
IN WATER. 

A-38-07        
REGULAR 
STEEL 
STUBS 

1' LIGHT  
VEHICLE + ++ MAY BE EFFECTIVE FOR SHALLOW WATER DEPTHS. 

MAY BE MORE MAINTAINABLE IN THE FUTURE. 

A-32-17        
BUTT 
ANCHORS 

1.5' DIGGER ++ + 
ONLY GOOD FOR QUITE SHALLOW WATER. MAY TEND 
TO SPLIT ICE THAT IS FORCED TOWARDS POLE 
BECAUSE OF THE SLOPE OF THE ANCHOR. 

A-32-11A        
H-FRAME 3' DIGGER ++ + MAY NOT BE REASONABLE IN ROAD ALLOWANCE, 

MIGHT BE DIFFICULT TO GET EASEMENT. 

A-32-11        
CULVERT 
(ONE PIECE) 

4' DIGGER +++ ++++ 
CULVERT EXTENDS AT LEAST 8’ DEEP.  USE IS 
QUESTIONABLE IN LARGER BODIES OF WATER WHERE 
ICE SHEETS MAY CAUSE LEANING. 

A-38-09      
DOUBLE 
STUBS 

4.5’ LIGHT   
VEHICLE +++ +++ LIMIT BASED ON INSTALLING STUB WITH HALF THE 

LENGTH IN EARTH, 3' FOR BANDS ABOVE THE ICE. 

A-38-08    
SCREW 
PILES 

8' TRACK -   
HOE ++++ ++++ 

MOST ROBUST, MAY BE THE ONLY OPTION FOR VERY 
DEEP WATER. WATCH HIGH WATER MARK, TOP OF 
SCREW PILE MUST BE ABOVE ICE. 

 

 
NOTES 
1. CONSULTATION WITH SASKPOWER ENVIRONMENTAL DEPARTMENT MUST BE DONE BEFORE 
    INSTALLING IN WATER OR WETLANDS. AN ENVIRONMENTAL PERMIT WILL BE REQUIRED. 
2. NEED TO BE MINDFUL OF LINE CLEARANCE OVER THE ICE FOR DEEP WATER. CSA ABSOLUTE MINIMUM    
    VERTICAL CLEARANCE IS 5.78M. 
3. SHOULD GIVE CONSIDERATION TO REPLACING POLES MORE THAN FIVE (5) YEARS OLD TO ENSURE 
    THAT THE POLE IS IN THE BEST CONDITION POSSIBLE IN ORDER TO GET THE GREATEST LONGEVITY 
    OUT OF THE REMEDIATION. 
 
 
 
 
 

                 SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL  DESIGN CHK  DRN. LM 

SLOUGH CONSTRUCTION CRITERIA  L. MOEN L. BAILEY CHKD.  
  2016-05-04 
DATE OF ISSUE:   DRAWING NO: A-32-21 SHEET  1 of 1 REV. 0 

 
2016/07/26

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



BILL OF MATERIAL 
ITEM CODE QUANTITY DESCRIPTIONNO. NO. 

1 1 01 33 1 ANCHOR SCREW – SS200 8”-10"-12”  
2 1 01 66 1 ADAPTER TRIPLEYE FOR 2" EXTENSION SECTION 
3 1 01 76 1 EXTENSION SECTION – 2" X 5’ (NOTE 1) 
3 1 01 77 1 EXTENSION SECTION – 2" X 7' (NOTE 1) 

 NOTES
1) A MINIMUM OF 1 EXTENSION SECTIONS SHALL BE USED.

MULTIPLE MAY BE REQUIRED TO SET TO A DEPTH THAT
ENSURES MAXIMUM PULLOUT STRENGTH.

SaskPower  -  DISTRIBUTION STANDARDS 
APPROVAL     DESIGN CHK DRN. LPM 

TYPE “E” ANCHOR  L. MOEN L. MOEN CHKD.  
2018-02-15

DATE OF ISSUE:    DRAWING NO: A-32-22 SHEET   1 OF 2 REV.  0 2018-02-20

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E



2018-02-20

B
A

C
K

 T
O

 IN
D

E
X

 P
A

G
E


	A-32-INDEX
	A-32-00
	A-32-01
	A-32-02
	A-32-03
	A-32-04
	A-32-05
	A-32-06
	A-32-07
	A-32-08
	A-32-09
	A-32-10
	A-32-10A
	A-32-11
	A-32-11A
	A-32-12
	A-32-13
	A-32-14
	A-32-15
	A-32-16
	A-32-17
	A-32-18
	A-32-20
	A-32-21
	A-32-22



